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9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafaa gt & SR 39 & e @9d SR faswed ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

qrfor &9 G dferd s== % e e
e 1 fR7e IugeRt =il ?
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3) st fren
4) ot e
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3) U= FHUA
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[ Level-3/1307 ]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.
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4.
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4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative
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1.

8.

9.

[5/A]

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (), (D) & (d)

3) (@, (c) & (d)

4) (@, ®), (©) & (9

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation
behaviour

impairs learning

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.
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10.

11.

12.
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10.

11.

12.

Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@ @
) 1 III II I
2) III II Im 1
3) II 111 I II
4) 1I I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual



13.

14.
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13.

14.

[7/A]

Which of the

examinations are

following
the basis of

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test

individual or group.

can be either

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.
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15. frfefaa & & d9- JH e & 15. Which of the following pair is not

ProTmar g@ Rrsid & o g@ ® correct regarding elements of
dd T 3% AOM P dey § TR intelligence and their dimension,
Ter %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g&&' % @ HEH Intelligence
1) IHE IS 1) Unit Product
2) G fspar 2) Cognition Operation
3) Hediw fspar 3) Evaluation Operation
4) gy ey 4) Relations Content

16. g & @ @9-d@ 9@ df=a 16. Which one of the following is not a

AR gRehoT Hl TqE fRIver 78 key feature of child centred

g7 learning approach ?

1) GefE dEe & e 1) Meaningful learning

opportunities

2) UHd [T qr 2) Single learning pathway

3) €ad ‘1@1’4’7'[ 3) Continuous assessment

4) ™ fareror |fdT| 4) Accessible learning settings
17. g0 % SFJAR, JeOTes dE @ 17. According to Bandura, which is not

HV-G SraHeeT ke 78 & ? the interrelated processes of

observational learning ?

1) SA9YMEIHS BIEDIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) IXOT® yfshamd 3) Motivational Processes

4) LDIEEI e EIY 4) Conjunctional Processes

[ Level-3 /1307 ]
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20.

21.

4) T HIE (3T5H) qeH
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PEIEICII]
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18.

19.

20.

21.

[9/A]

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.



[10/A]

22.

23.

24.

YaaE & e omEHE oM
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2) focifea
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1) @ Uode dF & G

2) @I
3) YRS [Rreror
4) Gade HEHH
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22.

23.

24.

According to Pavlov's Classical
Conditioning theory of learning,
which
presentation  of

temporal sequence

natural and
conditioned stimuli will most affect
learning ?

1) Simultaneous
2) Delay
3) Trace

4) Backward

In which stage of Piaget's Cognitive

Development theory does the

ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program



25.

26.

21.

frefofeg & ¥ 9-a1 gu@sh fwem
H TF sid 78 8§ 7

1) TRl & RS

2) T @ f=ia

3) fafaerr &1 S F9M @l Rsid
4) e 3 AR @ fEia
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25.

26.

21.

[11/A]

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.



[12/A]

28. fr=fafad & 9 d9-91 &9 e &

29.

30.

g § o 78 B ?
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3EE B
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28.

29.

30.

Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3 /1307 ]
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31.
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33.

34.
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35.

36.

31.

38.
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2) &S - G, guH, HaT

3) T=A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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39.

40.

41.

42.

A 3fte & e faeey & ot 9=
g ?

1) T, @R

2) TG, SR

3) e, stfewn

4) RF, ™

‘TRIHT Tl 7 ARG H SR S’
ST I § @ifed I HA: R

1) SHiFddres Hs qeT Sicaraeh G5l
2) Sliqdres G qo1 Agars ds
3) SAlddrah Gsll T Afkiars ds
4) HEqED G AT Alddreh G5

Fr=1 & & e qerer & ord ' 78

g7

1) T W ) LT BN - SR
BTl

2) Y F BT T A - foFT O™

& Pz T U HT A
3) TH gE UM UMT - THdl &)
LS SUREIT

4) HM ¥ AR a1 - B @
CEREREIl

fpar & dey § orgfad faeed g ¢

1) $H & AER W fbar & ‘Gehis’
T ‘ATHHE A HE AW S B

2) gﬂﬁﬁ@ﬂéﬁﬁiﬁﬂﬁ%ﬁﬁ?ﬁ@?ﬁ
l

3) ‘far @ | o forgamn 21’ S
qrR # IR AT SgE &% o

4) ‘SiEEr, WA TE AT
AT BRa % SRR B

43.

44.

45.

T % G99 § BH-91 FEF FGY

g7

1) YT & OMgN W Ta-MH & B8
9T 2

2) ‘B JA FY  ACREIIEE
TaqM 9=

3) ‘TEYEEE AW & IR WE AW
ST &

4) 9 g4 @ g & 9 A
[ B B aEg B A A R
39 FerEaras 9dm ®ed 2

e faey 4 Rodaeis 3= ommT
T 7

1) T - Jaed

2) T - HEE

3) & - &g

4) M - WA

qT & [T TR 9= & Geyg H

ST T T
1) S & H g | IFRE T & -
31ag

2) fored #ig = 7 & - vy
3) WYE H W dwril AT - FEr

4) N HGoF WM P fow Sk -
R

[ Level-3 /1307 ]



Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1307 ]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

| a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.



[16/A]

53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,AC,B

3) D,C,B,A

4) D,C,A,B

[ Level-3 /1307 ]



AW 11/ PART = Il
AT o799 / GENERAL STUDIES
RS QdT, diihe STl el 9T S U9 RGBT / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

[17/A]

fraer : fFefafad gl & SR 39 & e @9d S faeed g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

& A U9 X & 90 IR Sa7 f&am
# R oAl Je F@ @l ©, ol
SHS 19 B H R B

1) SI-gd
2) UltEH

3) T
4) TTR-UIRTH

Th T 20 I g R AR @ e
¥ uF gue # qur I g0 H@ AN @
oot s & 2 9@ & @@ & F,
@ A I H G @ A ©

1) 10 fHt/=ver
2) 12 f®Hl/g0e
3) 13 fHl/gver
4) 15 fHl/guer

[ Level-3/1307 ]

61.

62.

63.

If A stands on his head with his
North,
direction will his left hand point ?

face towards in which

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and

English both ?
1) 0 2) 3

3) 4 4) 5

P.T.O.



[18/A]

64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
99 7d W@ B & &M IW 4
oF WM W & T C & N 37 Nl
H O AT HE, A C & @W A H
He-AT B ?

1) odf
2) 104
3) 114
4) 124

U %= e 9 § 'CEG' &l ‘TSR’
dem 'FHJ' & 'QPO' for@m <mam &, &
TH @AM AW H OIKM' & femar
SR

1) NOP

2) NOL

3) NMK

4) NML

e}l EAML ¥ fha @efe 9 91
ST Hhd § 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgye d aiie Hv

EIoEET 7:2 @&, a@ 3
TS A TSl A B

1) 7 2) 8

3) 9 4) 11

[ Level-3 /1307 ]

64.

65.

66.

61.

In a class of 35 students, A is
placed Tth the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11



68.

69.

10.

11.

frefafed @& S & SFET U
ST i
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 9T H,
T B T 1 d% P I 6 g F
W O HhaT 21 IR A A B T
Y 2 99¢ % o e & 99erq Ad
A P T¥ T &A1 C, T 9@ B &N
ST ¥ P WX AT ?

1) 2 g2 ¥

2) 2% g §

3) 3 guwe d

4) 3% g {

gfe fordr ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &, a
I Yot H 47+ 33 H AN B ¢

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R
oqr ?

1) ar

2) e

3) R

4) TR

[ Level-3/1307 ]

68.

69.

10.

11.

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 %« 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.



[20/A]

12.

13.

14,

15.

off 1 SFET T B
Z1A, X2D, V6G, T21], ?
1) R8TM
2) R8IN
3) R88P
4) R88M

x-3&, y-3& T 4x+3y =12 &N
Fftfd Brgst & awrrEa & B @

1) 2 3FE
2) 2.5 IHE
3) 3 IHE
4) 4 THE

g8 999 Bl & Fa s, e
15463 ¥ Siig< WX I IRT%S 107 §
qoiaan fasieta &1 S ©

1) 52
2) 55
3) 71
4) 16

[ Level-3 /1307 ]

12.

13.

14.

15.

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM

2) R8IN

3) R88P

4) R88M

In English alphabet, the number of

letters skipped in between

adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?

1) DJOTV
2) DJOSV
3) DJOSW
4) DIOSU

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit

2) 2.5 unit

3) 3 unit

4) 4 unit

Find the least number which must
be added to 15463 so that the
resulting number is
divisible by 107 :

1) 52

2) 55

3) 71

4) 176

exactly



16.

11.

18.

19.

UMl H g H fE g H PRt
ST ST fob O [ bl e e W
SO T 20% N AH B 7
1) 1:5 2) 2:8
3) 3:5 4) 4:8

us e Ui &1 4% affe W ®
2 99 % QT ThafE &N Ud AR
& & S ©

1) 52:51
2) 52:50
3) 51:50
4) B53:50

b

U # Tl T T MR AN
R 4 e ggEg A X ST TS &
50% e fan A af & o= H Fa
21,600 YA H AN A &, ol W
T Y B R B

1) 2,400 &9

2) 3,600 &7

3) 4,000 &

4) 4,200

q¢ A, B o C H

DN
W |
oo

Th A 20% Y 9 Th a&]
SO B, A W I & 12 TW@
it | o=, df IH 10% B AT
Bl 3 a%g H HY A ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3/1307 ]

16.

11.

18.

19.

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

23’5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.



[22/A]

80.

8l1.

82.

83.

Ve )

a*+a” 1-a
+
l-a 1++/a

a2

E

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Q

Qfrerfees g g oTafed © ¢

1) o R o
2) FHoee o |

3) IR P d
4) YT ot J

fPe BRAE 9 ST, 2023 H ARC
TS %l HaE {7

1) §9 faeg

2) ey e
3) 9y RIS

4) Tifed

gRaen & efated wogaen H 9
P oE W TH SR & ?

1) o gHdiR

2) 4 JIwR g S

3) 4t Bl ST W

4) o gLoid e guarierm

[ Level-3 /1307 ]

80.

8l.

82.

83.

Ve 1 —Va

L1-a
1++va

1 _
a’*+a

is equal to :

—
|

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Qv

Historical village Sugh is located
in:

1) Ambala district
2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia



[23/A]

84. TRIFMIN WU & T W< &L & 84. The evidence of Stupa of Mauryan
period is found at :
1) U H 2) Pyt § 1) Topara 2) Bhiwani
3) g H 4) ead H 3) Thanesar 4) Rohtak
85. TiaT &l @HRIE fhH "W H A 85. Geeta Jayanti Samaroh is
S 8 ? celebrated in the month of :
1) s § 2) AELY ¥ 1) Kartik 2) Margshirsh
3) oM@ T §  4) @Y H 3) Ashvin 4) Shravana
86. BRI JaT H HAYBR AEN & T&A 86. Who is the Chief Commissioner of
SIRER] B E 7 Haryana  Right to  Service
Commission ?
1) & o dio Tl 1) ShriT.C. Gupta
2) ff foog agw 2) Shri Vijay Vardhan
3) @ LEE Yoot 3) Shri Rajesh Khullar
4) A faE T 4) Shri Vikas Gupta
81. UY Mamem & TR § FefaRad 81. Read the following statements
HIE B dfeU : about Sadhu Nischal Das :
() 9E a[g & R (i) He was a Dadu's disciple.
(i) 31 T g&H FER A (ii) He compiled a book 'Vichar
Gehlerd St Hag 3 w9 7 B Sagar' which is in form of
dialogue.
HE??Q@’ & T FIMT - Choose the correct code :
1) ®ad T (i) TR 2l 1) Only statement (i) is correct.
2) Fad HIT (ii) Tt 2l 2) Only statement (ii) is correct.
3) T A P (1) M A & FAT (i) 3) Neither statement (i) nor
el & statement (ii) are correct.
4) A I (@) MR (i) TE 2| 4) Both the statements (i) and (ii)
are correct.

[ Level-3/1307] P.T.O.



[24/A]

88. =RAMT ¥ RGN WoNE dx FEl Red 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) TR 3) TJhajjar
4) THa= 4) Bhiwani
89. BRIM T Hedhrl ?iﬁ Td I 89. When the Haryana State Co-
foere drE o # ®AT w9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥ad, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) S¥Ed, 1996 4) January, 1996

90. =Emm # aRdl™ SCkll MEnfen 90. Where in Haryana, the Indian

HEI el feud ® 7 Institute of Information Technology
is located ?

1) dea 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3 /1307 ]



AT - IV / PART = IV
SI9Te / POLITICAL SCIENCE
fraer : fefafad gl & SR 39 & e @98 S faee g

Direction : Answer the following questions by selecting the most appropriate option.

[25/A]

91.

fig =R ed & Sidd &R
JUITl & B R & gy § Jod
HIT B TN BX -

1) AN Yol He’E A B
(TUwT) F T B ded TEHE
Fagr’ e faan S ARy

2) SUR YUl Y Bl EeU
e ot & 75 e & A
T T FH BN Ry

3) e qEigAa & e W fserd
Xl © e o § AR
et (SR® AR IR-CRe aremait
qfed) ® AN ST § Tl dor
ST =Ry

4) I8 F° fo@fa I & oo o1l
AHER BN | qHd B © -
S EeN % U oTfe 9y,
A dEEE ok fa9w
faQfaepr 34 B

[ Level-3/1307 ]

91.

Identify incorrect statement
regarding certain principles of the
Trading System under the World

Trade Organisation :

1) The trading system should be
without discrimination,

however under the most-
favoured nation (MFN) status
the 'National Treatment' should

not be granted.

2) The trading system should be
free, which means the barriers
should be coming down

through negotiation.

3) It believes in the principle of

predictability, which means
trade barriers (including tariffs
and non-tariff barriers) should

not be raised arbitrarily.

4) It advocates for more benefits
for less developed countries -
giving them more time to

adjust, greater flexibility and

special privileges.

P.T.O.



[26/A]

92.

93.

TR Feliga 8 6 SaisE

Yo & HEA9h 959 &) @l & ?

1) Si-15

2) TREA SqwqHT d

3) g ST %

4) IO e Holr qoE

Sg 2022 § “Sfidearel I & o
T SR I HERRA & ST &
el HH7 W Rl @y @@l
AT T, A GEm uREg b
HAckare  fodl Wi B STy
PI-41 397 o ?

1) HgF Y R
2) =M

3) W4

4) FABES fHred

[ Level-3 /1307 ]

92.

93.

India has not been a founding
member of which of the following

International Organizations ?
1) G-15
2) Asian Development Bank

3) New Development Bank

4) International Renewable
Energy Agency
Which country chaired the

Counter Terrorism Committee of
the Security Council, when the
Delhi Declaration was adopted on
"Countering the use of new and
emerging

technologies for

terrorist purposes" in 2022 ?
1) TUnited States of America
2) China

3) India

4) United Kingdom



94. T URTE & UM HEEl d A

® T § g AT B TeTH B

1) Hga UL & G uReg U=
T A & AR T% # dle I
P AR B o

2) YO% 94 HeEW ® dS B
FEEE B 0 UE R-Eh
el & gAE B ol

3) 17 RRE¥R 1963 & HEEHT Gahed
1991 (XVII) & STER, 10 M-
W did &Y o X R
F SR B

4) I AR UREE T & R
W SR o e T
3 U o dfed oM@ ok
REE T & e iR
aerf A R o T B
for < 2

[ Level-3/1307 ]

94.

[27/A]

Identify incorrect statement
regarding the elections of the non-
permanent members to the

Security Council :

1) The Security Council of the UN
constitute fifteen members and

every one has the right to vote.

2) Each year the General

Assembly elects five non-
permanent members for a two-

year term.

3) In accordance with the
General Assembly resolution
1991 (XVIII) of 17 December
1963, the 10 non-permanent

seats are distributed on a

regional basis.

4) Regional Seats are four for
African and Asian States; one
for Eastern European States;
two for the Latin American and
Caribbean States; and three
for Western European and

other States.

P.T.O.
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95. 2015 ¥ HYH g e fqehrd e

T # dad fem de (Tedeh)
T T, "9 e § aEed
frfofag & § ®9-91 g9=iar S&

ay 7&f STg=TEr A v ?

1) W& SIE AT & o
G EREeed
2) fmm & R fuwer T orM

T TRE TS|

3) Sarg gREds W IRE FHE

4) aq faem W fag  R@er

T

[ Level-3 /1307 ]

95.

The Sustainable Development
Goals (SDGs) was adopted at the
UN  Sustainable Development
Summit in 2015, which one of the
following agreements was not

adopted in the same year related

to sustainable development ?

1) Sendai Framework for Disaster

Risk Reduction.

2) Addis Ababa Action Agenda

on Financing for Development.

3) Paris Agreement on Climate

Change.

4) World Summit on Sustainable

Development.



96. HIf RN H AEHF R H T

T HH-a1 I TFT 2 7

1) i AT H MEHE UREg H
qgEESAl B regEar § gl Tl
AR feraet a &= ad
Rl & FEEA AR o &
AT SR & IYIU et
2l

2) AY Th AqEHY UG H BT
9o% B FH & oI TAFGH JoF
2021 1 AT H T

3) aEHE uRyg W@ em ¢ R
Tl B Ahd qMER & A9
T grefRaren SfR Toriet
P Qe gite [eRd A @ e
| T R

4) JfeMe GR@EEm @ 2021 H
SR Qe Rl T B

[ Level-3/1307 ]

96.

[29/A]

Which of the following statements
is incorrect regarding the

Governing Council of NITI Aayog ?

1) The Governing Council of NITI
Aayog comprises Chief Ministers
of all states and Union Territories
with  legislatures and  Lt.
Governors of other UTs under
the Chairmanship of Prime

Minister.

2) So far six meetings of the
Governing Council have been
held and the latest meeting

was held in 2021.

3) The Governing Council is the
premier body tasked with
evolving a shared vision of
national priorities and

strategies with the active

involvement of states.

4) It has been reconstituted in

2021 by the Cabinet Secretariat.

P.T.O.
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97. AT TSI & & H Fr=fcie

98.

I , AR J@® © T g
LIS

1) 3ME @ : Afaw aRaaw
2) Udo J39 : T Y 3% T gavad

w7
3) fafeerd : SE®d HT ¢ SiEal
K| fﬁr ® faw

TR

4) 9T HF : T THIhHA qaEe
T WSl ol SffEX &9
aee Uifcifesd

HUYAT & Sgodel e & g9y b,
frrfofag & @ ®F-91 99 TFT R 7

1) To o ffed IR M% @
AYH THE H SgAAE Hl STD
T ST B

2) TEAAR B A 8 [ AR
Y 9 ged @Al & @9 H T ™
F T HHIoTE T § ST el
ONT ST ddl ol Siceh, Jg |el
& G B

3) ¥ WY N
ghiREd & & T e

4) T H W HrgT H GiRd
T % Age WEE & AW

[ Level-3 /1307 ]

97. Following are known Books and

98.

Authors in the fields of international
politics. Identify incorrect pair :

1) David Held : Global
Transformations

2) L. Weiss : The Myth of the
Powerless State

3) Williams : Failed Imagination ?
New World Orders of
the Twentieth Century

4) Robert Cox : The Anarchical
Society : The Study of
Order in World Politics

As regard the Pluralist theory of
sovereignty, which one of the
following statements is incorrect ?

1) A. D. Lindsay and Gierke are
regarded as the father of
pluralism in modern times.

2) Pluralism believes that the state
as a politically organized society
can not be viewed as distinct
from other sociatal association.
Rather, it is an association of
associations.

3) The state itself is an instrument
of securing social solidarity.

4) The purpose of the state is to
reconcile conflicting interests
within the community in

conformity with the values

embodied in the law.



[31/A]

99. M-I H FA-II & T Tl 99. Match List-I with List-II and
IS e ﬁi%réﬁ » 99 @ ™ @ select the correct answer by using
1 TG XA G F&7 I YT codes given below the lists :

-1 gE-11 List- I List- II
(Z=) (Gt wfea (Country) (Universal
PR T8 S) female
6|T‘;[) Suffrage first
Introduced)
A. TS fHhTen @ 1971 A. United Kingdom (i) 1971
B. Rageds (i) 1945 B. Switzerland (i) 1945
C. w4 (iii) 1902 C. France (iii) 1902
D. affegferan (iv) 1928 D. Australia (iv) 1928
< - Codes :
@ ® © O @ ® © O
1) @) @Gv) @@ (D) 1) @) @Gv) @ ()
2) (iv) (i) (i) (@) 2) (iv) () (i) ()
3) (v) (@ G (D) 3) (v) (B () (i)
4) @ @) (@v) (D) 4) @ 3 (@v) (@)

[ Level-3 /1307 ] P.T.O.



[32/A]

100.

1952 ¥ HEY g1 TRd ol qeat &
fodeet & @y § E-L A GE-I S
g AR B AR R F A R
T IS PN IWANT BH &) SR A

I El-11
(Feh vl & PR) (o

I )
(i) g 9% & (a) 1956
(ii) < uiskan Higar (b) 1954
(Siater) frea
(iii) &g foare (dshem) (c) 1964
ECRED

(iv) Tare <@ (AOEE  (d) 1970
ST ST
frary) fadrees

T

1) i-(b) ii-(@) iii-(d) iv-(c)
2) i-(@) ii-(b) iii-(c) iv-(d)
3) i-(a) ii-(d) iii-(b) iv-(c)

4) i-(b) ii-(@) iii-(c) iv-(d)

[ Level-3 /1307 ]

100. Match List - I with List - IT and select

the comrect answer by using the
codes given below the lists as regard
to Private Members' Bills passed by

the Parliament since 1952 :

List-I List-II
(Private (Year of
Members' Bills) Assent)
(1) The Muslim Wakfs Bill (a) 1956
(ii) The Code of Criminal (b) 1954
Procedure

(Amendment) Bill

(iii) The Hindu Marriage (c) 1964
(Amendment) Bill
(iv) The Supreme Court (d) 1970

(Enlargement of
Criminal Appellate

Jurisdiction) Bill
Codes :

1) i-(b) ii-(@) iii-(d) iv-(c)
2) i-(@) ii-(b) iii-(c) iv-(d)
3) i-(@) ii-(d) iii-(b) iv-(c)

4) i-(b) ii-(@) iii-(c) iv-(d)



101.

102.

103.

LRGN G LI B B o L ot
‘G feee IO RN e 9
e B 7

1) 38T 20(1)

2) ITTHT 20(2)

3) e 20(3)

4) T 21

‘diageae §  waiaq  eefaRaa
FoHl W AR T

I dfemaE 3 FEH & a9y § S
Fe7er @Eer # grlEd &xd o

AN 3 PR BN SOEH

EE I

I. & fOfga daam @& & &
Gfagae & oidm @ stfvarar
2

1) 3ad %9 1 98§
2) Had B I 9Ll &
3) FUF I AR HIF 11 q1 Tl &

) TN FRE I T AT A
%o 11 21 8

TS T GRWE &1 o1F b bl
o B gl © °

1) 20 2) 18
3) 16 4) 19

[ Level-3/1307 ]

101.

102.

103.

[33/A]

Which of the following articles of
the constitution of India is related
to the concept of "Nemo Debt Bis
Vexari" ?

1) Article 20(1)
2) Article 20(2)
3) Article 20(3)
4) Article 21

Consider the following statements
about 'Constitutionalism’'.

I. It is a body of rules ensuring
fair play, thus rendering the
government responsible.

II. The existence of a written
constitution is a Sine Qua Non
for the existence.

1) Only statement I is correct
2) Only statement II is correct

3) Both statements I and II are
correct

4) Neither
statement II is correct

statement I nor

How many meetings of the
National Integration Council have

taken place so far ?
1) 20 2) 18
3) 16 4) 19

P.T.O.



[34/A]

104.

105.

frafofea & @ fpe wma 8, wate=
R GiEaReig &R & HRON B
AN T, Vb AR I e
R & U “TeleEml s |
fepam ?

1) Slo o F M UREH
oY, 1997

2) [ M 1M 9RG 99, 1978

3) FIEM<R ARGl TH B
T, 1973

4) Tio Hio Heal MW A

g, 1997

frafofeg & & feem adeite
B FIYROT & HER W “AFRa
el ?

9 ST B

1) Silo S=go Tho B
2) HIA A

3) & wEd
4) dafar aEsh

[ Level-3 /1307 ]

104.

105.

In which of the following cases, the

Supreme Court applied the

"Precautionary Principle" to
anticipate, prevent and attack the
causes of environmental

degradation ?

1) D. K. Basu V. State of West
Bengal, 1997

2) Menaka Gandhi V. Union of
India, 1978

3) Keshavananda Bharati V. State
of Kerala, 1973

4) M. C. Mehta V. Union of State,
1997

Who among the following sought
to distinguish "Civil Society" from
the "State" based on the concept of
"Universal egoism" and "Universal

altruism" ?

1) G.W.F. Hegel
2) Karl Marx

3) Herbert Marcuse

4) Antonio Gramsci



106.

1017.

REER A A N L o
ded, G URYE G Sl & U
Pl AT TE B ax I B AL
F & [T Ui H I FA B
fo affreper B 7

1) ITeRT 42

2) TWE 41

3) =BT 108

4) IPWT 4

geer w8l gedrT d@ied
(SAARC) ¥ HWad Tdd &I B
e :

1) ARG 9 H GEIE 95 gl

2) AENWEE 2007 § Th HIH
YT W SN 3 HeH 9 9
q e & Tm

3) 9@ TH OWNG SPRE
REx voe § 9, 9Rg X O
F ASEM W 5 FEN, el
AR e

4) 1997 % PR 9T & §
AR B9 arr o1 ok
2019 ¥ I (ra) & ol et
% RO TG& Y &1 T

[ Level-3/1307 ]

106.

1017.

[35/A]

Under which Article of the United
Nations Charter, Security Council
is authorised to use Sanctions to
impose measures not involving the
use of armed forces ?

1) Article 42
2) Article 41
3) Article 108
4) Article 4

Identify incorrect statement related
to the South Asian Association of
Regional Cooperation (SAARC) :

1) India is the founding member
of SAARC.

2) Afghanistan joined SAARC
through the signing of a joint
declaration in 2007.

3) Out of the eighteen SAARC
Summits held so far, India has
hosted three, viz. the second,
the eighth and the fourteenth.

4) The 19th SAARC summit was
supposed to be held in Dhaka
and then got cancelled due to

terror strike in Uri (India) in
2019.

P.T.O.



[36/A]

108. ARG AR TR & s g o

Gy 9 HEd 7 U B YgE

1) 1960 ¥ ARG SR wike™ & 9=
iy S €Y W ERER B

2) ®fy B deq, A ARAT owig W,
Haae ofR =g (gt Afedn) Ara
F AT IWE & fw erEfed @
L]

3) uikeEl ARAl - Rig, W &R
e & ot 9Rd @ Fids
R, WITE IR FH I
B SIART H BISH, WibE Hl
rrsifed febar o

4) ARG BT SR Yed STt
qRATIE § geivEd Al W
e & & o e
AR % e Bl [y S 6@
% UEEFl & STEY A o

[ Level-3 /1307 ]

108.

Identify incorrect statement
related to the Indus Water Treaty

between India and Pakistan :

1) The Indus Waters Treaty was
signed between India and

Pakistan in 1960.

2) Under the treaty, three rivers,
namely Ravi, Sutlej and Beas
(Eastern Rivers) were allocated

to India for exclusive use.

3) The waters of Western rivers —
Indus, Jhelum and Chenab
were allocated to Pakistan,
except for specified domestic,
non-consumptive and
agricultural use permitted to

India.

4) India considers the constitution

of Court of Arbitration to
consider matters related to
Kishenganga and Rattle
hydroelectric projects is as per
the provisions of the Indus

Waters Treaty.



109.

110.

Frefafad & | feed 98 Igid
fepam T fob ‘|l AT S 9w
?TWWW&W%{W
n 9

1) TRl Hl aEiH ayen

2) WFRE AR Toias SRRt @
AU TEfaT

3) o, wmMve SR Wi
BN P ST THfaaT

4) g Nem

IRA & A AEAN & GdY 7@
HYT T

1) WRA & gAd FET Uh
dagte ™ ¥ el zEa
U1 25 SHEX, 1952 &l Giag™
% OTAR H T AN

2) ¥gAd &N Mol o9 @ afE &
Y Sg-geEld R 1990 §
P B

3) JFal WRdl WRA W THAH
Hfedl J& IAE g T 2

4) U gEA gE AGE AR
I gt H Pl @ @
AR I FEH G a9 AT 60
T @ oy T R w3,
BT B

[ Level-3/1307 ]

109.

110.

[37/A]

In which of the following it was
proclaimed that “all Humans born
free and equal in dignity and
rights" ?

1) Universal Declaration of
Human Rights

2) International Covenant on
Civil and Political Rights

3) International Covenant on
Economic, Social and Cultural
Rights

4) YVienna Declaration

Identify the correct statement
regarding the Election Commission
of India :

1) Election Commission of India is
a permanent Constitutional Body
and it was established in
accordance with the Constitution
on 25th January, 1952.

2) The multi-member Commission
has been in operation since
1990 with decision making
power by majority vote.

3) Smt. Ramadevi is the only
woman Chief Election
Commissioner in India.

4) The President appoints Chief
Election Commissioner and
Election Commissioners and
they have tenure of five years,
or upto the age of 60 years,
whichever is earlier.

P.T.O.



[38/A]

111. @EH-I & FE-I & Y GAic &
AR wgHE T R wiREl oK
I gerdl & g § g & A
RU T Hle H TN HH Fel I

g
QEl-I
() Zien

(i) eraRiseE Afergw

e

(iii) FFaEa areed

e
(iv) B fawd & fog
SIS I
P :
1) i-(b) ii-(c)
2) i-(a) ii-(c)
3) i-(b) ii-(d)
4) i-(b) ii-(a)

[ Level-3 /1307 ]

QEI-II
(@) wad

(b) IR

(c) |

(d) &

iii-(d) iv-(a)
iii-(d) iv-(b)
iii-(a) iv-(c)

iii-(c)  iv-(d)

111.

Match List-I with List-II and

select the correct answer by using

the codes given below the lists

regarding the UN Specialised

Agencies and their Head Quarters :

List-I

(i) UNESCO

(i) International Maritime

Organization
(iii) Universal Postal

Union

(iv) International Fund
for Agricultural

Development

Codes

1) i-(b) ii-(c)

2) i-(a) ii-(c)

3) i-(b) ii~(d)

4) i-(b) ii-(a)

iii-(d)

iii-(d)

iii-(a)

iii-(c)

List-II
(a) London

(b) Paris

(c) Rome

(d) Bern

iv-(a)

iv-(b)

iv-(c)

iv-(d)



112. 9% & g9 @0 & B A &

gag ¥ @& U T

1 d9uM % ded, oM & 19
S| O o I 1 | e o |
Al @ H TE & 96
RGN & A H GdRwrl
e o B

I TH @it qWal § SN @ ™
Tsgufd Sl TogUld,  JATgEY
P ff =1 § © & S W
Bl e

I AT % 9 39 SHIGAR &
A AN HW H AR & AN
9 & W AR & &}
Feid 6% & o@ e =
% fea 3 A fawa @ B

IV AT &% U HH & ded CEl
TR R0 R < | e 5 B
ARl # oEly @ gem ;o
F B B A AR B

BT

1) %o I, 11eN] M 9e &
2) HO I3 IV & 2
3) Tt FW T 2

4) Tt FHIF TG 2

[ Level-3/1307 ]

112.

[39/A]

Identify the correct statement with
regard to certain functions of
Election Commission of India :

I  Under
Commission also has advisory

the Constitution, the

jurisdiction in the matter of post
election disqualification  of
sitting members of Parliament

and State Legislatures.

II The opinion of the Commission
in all such matters is binding on
the President or, as the case
may be, the Governor to whom
such opinion is tendered.

I The Commission has the power
to disqualify a candidate who
has failed to lodge an account of
his election expenses within the
time and in the manner

prescribed by law.

IV The Commission has also the

power for removing or

reducing the period of such
disqualification as also other
disqualification under the law.

Codes :

1) Statementl], II & III are correct.
2) Statement Il & IV are correct.
3) All the statements are correct.

4) Al the
incorrect.

statements are

P.T.O.



[40/A]

113.

114.

T ®Y T B HhAN A G
T B U SUET ol T HAA

et B 7

1) e HiET Aepmax
2) Udo Sto dTEhl

3) HA A

4) UEHS T

Aieqr GfR® W 9 aifa &
Tedl 91K e fhdl T

1) 2792, 1998 %
2) 29 3, 1997 §
3) 8TMd, 1999 &

4) 199, 1996 §

[ Level-3 /1307 ]

113.

114.

"The state has no finality, can have

no perfect form. The State is an

instrument of social man." Whose

statement is this ?

1) Robert Morrison Maclver

2) H.J.Laski

3) Karl Marx

4) Edmund Burke

The Parliamentary Committee on

Empowerment of Women was

constituted for the first time on :

1) 27th May, 1998

2) 29th April, 1997

3) 8th March, 1999

4) 19th June, 1996

Download from www.MsEducationTv.com



115. F=fafag & § S9-91 ®9 Tomi

% IARAGI 3ehHoT P GRAmNa 78

FAT 2 ?

1) ¥& TG Bl Th GHED Hishar
% w9 gar & o dEe @
FW 8, FA AR FER IA1Q
@A 7, T SR TN A g,
ES1E2 R e 2 e G G R
qa | erifoyel aREd awi gl

2) & dHagie T, FBLT B
qEE, TOFNE STl S}
ol ARG 1 SemEr 3l 2

3) & wuw @ offUeR, X wh

HEHIRI 5T Dl dhard HIdl

2|

4) I8 YEHIG P SEAEET H Th
feeqr oliX ordfare & UH diEd
T A 2

[ Level-3/1307 ]

[41/A]

115. Which one of the following

statements does not define the

liberal perspectives of politics ?

1) It sees politics as a social
process which resolves
conflicts, maintains law and
order, brings wunity and
cooperation, serves the
common interests and brings
about peaceful change in the

society.

2) It promotes constitutional
methods, the rule of law, political

dissent and political participation.

3) It favours the right to property

and a welfare state.

4) It sees politics being a part of
the super-structure and a
concentrated form of

economics.

P.T.O.



[42/A]

116. g1 & -0 § Faka & AR

gt & 9e R oAl F SwEe
Hh Fel I G

GQEl-1 GEl-11

RERICES (S¥w)
YBIT aX)
(A) HaAIHT () e wdel o
W & o G
R O
ST
(B) HMIEIHTT (i) FF-FE |
el e B
(C) TR (i) WG oRom
AR T G

(D) fgsgamet @R (iv) ER e

el H FT A
FT
A B C D

) G @ (iv) (il
2) @ (v) (D) (iii)
3) (i) i) @ (iv)
4) @ (i) () (iv)

[ Level-3 /1307 ]

116. Match List-I with List-II and

select the correct answer by using

the codes given below the lists :

List-I List-II
(Methodological (Purposes)
steps of Politics)
(A) Observation (i) Establishing

the relations
and correlation
between

different actors

or variable.
(B) Generalisation  (ii) Relies on

sense-

experience.
(C) Explanation (iii) Possible

outcomes and
suggesting

measures.

(D) Predications and (iv) Giving reasons

Prescription for the general
rules.
Codes :
A B C D

1) () @) (v) (i)
2) () (v) (i) (iii)
3 @@ @) @ (iv)
4) @) (i) (i) @iv)



[43/A]

117. 9 ECINEE P ANE @A @ 117. The idea of the relative autonomy
(5| LS q&gd ERIREI of the state was introduced by
Marxin ......... .
1) ‘gr=e | 1) Grundriss
2) ‘FY-E A § 2) Communist Manifesto
3) ‘SHMIH® us haHithed 8) Economic and Philosophic
TRy ol 1844’ Manuscripts of 1844
4) T WY SJHIEAX A% NEN 4) The Eighteenth Brumaire of
e’ | Louis Bonaparte
118. frfaiaa & @ - faaren e 118. Which of the following concepts is
3 Io-fer 9 99w 78 & ? not associated with Rawl’s theory

of ‘Justice’ ?

1) 3o Rafa 1) Original Position

2) At Fam 2) Maximin Rule

3) GHH o=l @ s 3) Principle of Equal Liberty
4) EIWT'f BEI=OT &l T 4) Principle of Just Transfer

[ Level-3/1307] P.T.O.



[44/A]

119.

120.

frefofeg & @ ®9-a1 F99 T &
it e @ gefag 787 ? ?

1) T =/ & Al B
2) 9 WER fave fdl § awee

H A B

3) WU % ffysmea af B
4) T TE AHEINRE G R

friicied & | fha g | orsmed
e & S #, a1 a7 @R
ST & [0 EHRT & GRS A
BT ST feha o ?

1) T GareE 1863
2) IR HErEs 1900
3) dieed Hares 1889

4) PG GEET 1875

[ Level-3 /1307 ]

119.

120.

Which one of the following
Statements is not related to the

Mechanistic theory of the State ?
1) State is a Manifestation of will.

2) State is an instrument of

Reconciliation of conflicting

Interests.
3) State is a juridical Person.

4) State is a Social Institution.

In which of the following

addresses Abraham Lincoln used
the famous phrase of "government
of the people, by the people, and

for the people" ?

1) Gettysburg Address 1863

2) Washington Address 1900

3) Boston Address 1889

4) California Address 1875



121.

122.

I $ G-I S g gAk ]
gg & g $ A= Ru T A &
SR Fh G I YA

GQEl-1 GQEl-11
() 7 e (a) STHTMEN W
Qe STEHHT
() MR W N (b) FE R
HeIX Hehe
(idi) Al T~ (c) e e foar
(iv) 3T FERTeE (d) STR® & -gd
¥ @ W
STEHHT
FE :
1) i-(b) ii-(@) iii-(d) iv-(c)
2) i-(a) ii-(c) iii-(d) iv-(b)
3) i-(b) ii-(d) iii-(a) iv-(c)
4) i-(b) ii-(@) iii-(c) iv-(d)

‘oMY g @ Y wE amt
TR § H§@W 8 % Sed
AT YTl & X HH Hb AT
I XA I A Bedld @

1) 7 Fesl

2) ddlffed TisHe el
3) oI Wil wesht
4) TEFW et

[ Level-3/1307 ]

121.

122.

[45/A]

Match List-I with List-II and select
the correct answer using the codes
below regarding the UN

Secretaries-General and the crises :

List-I List-II
(i) U Thant (a) Soviet invasion
of Afghanistan

(i) Javier Perez de (b) Cuban Missiles

Cullar Crises
(iii) Kofi Annan  (c) Suez Canal
Dispute
(iv) Dag (d) US led invasion
Hammarskjold of Iraq
Codes -
1) i-(b) ii-(a) iii-(d) iv-(c)
2) i-(a) ii~(c) iii-(d) iv-(b)
3) i-(b) ii-(d@) iii-(a) iv-(c)
4) i-(b) ii-(a) iii-(c) iv-(d)

The policy of gaining benefits by
working within the hegemonic
system rather than engaging in

activities that oppose the

hegemonic power is called :

1) Grand strategy

2) Selective engagement strategy
3) Hegemonic stability strategy

4) Bandwagon strategy

P.T.O.



[46/A]

123.

124.

Freifafaa & @ aF-d1 |ffa 9@
gasi | wiad 78 © ?

1) Sie g |l

2) YR ARG HH(
3) AV |Hfd

4) FITRE T4 Qi

ARG & Fdied FENE &R/ A “de
T R s @ gl Toq B
% TEEy

1) e Fear 2 6 R wE
freifa 9 &1 U7 Sear ®
M B &AM FE T G Al
frell o # Sfafea 9w v
T TEieg 3, @ 9 9hd &
R & 3Gl Bl

2) IOH IMM T G H IO B
aa faa’ ¥ e # {6
FRENT Hied A & ST
Tq 3REHT F &3 o

3) 9NG ¥ I8 M=&rq 1970 %
T I g

4) Rrerd & AR &G a9, e
AT W, 3@ Y kA
AN TEd TEEEl & TEE W
S e ST =Ry

[ Level-3 /1307 ]

123.

124.

Which one among the following
Committees is not associated with
electoral reforms ?

1) Jeevan Reddy Committee
2) Jayaprakash Narayan Committee
3) Vohra Committee

4) Satyanarayan Rao Committee

Identify the incorrect statement
related to the "Doctrine of Pith and
Substance" as applied by the

Supreme Court of India :

1) The doctrine says where the
question arises of determining
whether a particular law

relates to particular subject

mentioned in one list or
another, the court looks to the

substance of the matter.

2) It derives its genesis from the
approach adopted by the
Courts

including the Privy

Council in dealing with
controversies arising in other

federations.

3) In India the doctrine came to
be established in 1970s.

4) While applying the doctrine,
regard is to be held on the
enactment as a whole, to its
main objects, and effect of its
provisions.



125.

126.

= dfEl ok swmRa a0l &
g § e7d T B 98 B

1) Sifos SRER a9 1972

2) YEEM® BRER T e © 1993

3) ol SR Y : 1994

4) T AR Y : 1967

- qal § HB qShAl @
T § T HIT Bl TEAH B

1) M e W T ¥
Fifaslics IIT o< &3 ol

2) YCH H AN [oHEEs QEER

B AT H ARG § 80% IR
HEE g1 Bl Bl

3) WRA M & ool & THAH
s AR TER B

4) Ta = & § @
ARERE IR W’ # e
frafor & e 1 ger Jrfer 2

[ Level-3/1307 ]

125.

126.

[47/A]

Identify the incorrect pairs regarding

various treaties and signing years :

1) Biological Weapon Convention :

1972

2) Chemical Weapons Convention :

1993
3) Open Skies Treaty : 1994

4) Outer Space Treaty : 1967

Identify the incorrect statement
regarding certain developments
in the India-Bhutan relationship :

1) Bhutan is not the first country
to received the Covishield

Vaccine.

2) Bhutan receives 80% of the
grants supports from India
than from its developmental
partners.

3) India is the sole importer and
buyer of from

Bhutan.

electricity

4) India is Bhutan's main partner
in the capacity building of
government  officials and

professionals in various fields.

P.T.O.



[48/A]

127. SATH-E RIS & =9 d Tog

HI T #X

1)

2)

3)

4)

= e e @ e odw @
ded T H TEEM FA AR
Fef & & [T 2017 # o=
fepan T am

SATH-E R & foq I
oy & wem § oM, [BR
AN T MR 99 A9 T=E @

T TR &

UREIST & ded, a9 8El & g
Je-wld qad g« FA A
TSl GEEH HA @ fow g9
diF T § o Reed-adt e
fepam T em

IRIASHT HT T8 = 2020 H

Q0 gl

[ Level-3 /1307 ]

121.

Identify the incorrect statement as

regard to SATH-E Project :

1)

2)

3)

4)

It was launched in 2017 to
identify and build three 'role
model' states for the school

education sector.

Three states such as Rajasthan,
Bihar and Uttar Pradesh were
chosen through the challenge

method for the SATH-E project.

Under the project, a system-
wide diagnostic was carried
out in all three states to
identify roadblocks in
achieving grade-level

competency for all students.

The first phase of the project

was completed in 2020.



128. Uggd fo oM @ RwRel @
Pl Al ST AMES & ae
4 G-I & GE-IL & HY AR 6
IR gt & e Ru oA @
ST #&b @& SaX A T4 B

QEl-1 QEl-11
(BT e (@ %)
FEE)
() e (a) 10%

(i) a9 ud iR (b) 15%
(iif) & 4 (c) 12.5%

(iv) SHHIRIHT Tae (d) 45%

T

1) i@ ii-(b) iii-(c) iv-(d)
2) i-(@) ii-(b) iii-(d) iv-(c)
3) i-(b) ii-(a) iii-(c) iv-(d)
4) i-(b) ii-(c) iii-(d) iv-(a)

[ Level-3/1307 ]

[49/A]

128. Match List-I with List-II and
select the correct answer by using
the codes given below regarding
the Fifteenth Finance Commission
recommendations related to certain

Horizontal Devolution Criteria :

List-I List-II
(Horizontal (Weights %)
Devolution

Criteria)
(i) Population (@) 10%
(ii) Forest & Ecology (b)) 15%
(iii) Income Distance (c) 12.5%
(iv) Demographic (d) 45%
Performances
Codes -

1) i-(a) ii-(b) iii-(c) iv-(d)

2) i-(a) ii-(b) iii-(d) iv-(c)

3) i-(b) ii-(a) iii-(c) iv-(d)

4) i-(b) ii-(c) iii-d) iv-(a)

P.T.O.



[50/A]

129.

130.

TR R e § g @
NI @ gaferd X IR R &
A QU T %I w1 ST FRh Fa
S g

QEl-I
() eV He @
(i) TePrl gHa=

-1

1901-1960
(b) 1960-1968
(iii) S d9aE ()

1789-1901

(iv) GH@E d@9a6 (d) 1970-1997

FT

1) i-(c) ii-(a) iii-(b) iv-(d)
2) i-(d) ii-(c) iii-(a) iv-(b)
3) i-(a) ii-(b) iii-(d) iv-(c)
4) i-(b) ii-(@) iii-(c) iv-(d)

THICE AeREN & AR e
T q o g aEen & feEE #
TR =0T A1 e 78T & ?

1) TS TS

2) SR faer

3) THEMRE Yol fasa
4) faga g=F &1 g

[ Level-3 /1307 ]

129.

130.

In reference of American
Federalism match List-I with List-II
and select the correct answer by
using the codes given below :

List-I List-II

(i) Dual Federalism (a) 1901-1960

(ii) Cooperative (b) 1960-1968

Federalism
(iii) Creative (c) 1789-1901
Federalism
(iv) Contemporary  (d) 1970-1997
Federalism
Codes -
1) i-(c) ii-(@) iii-(b) iv-(d)
2) i-(d) ii-(c) iii-@@) iv-(b)
3) i-(a) ii-(b) iii-(d) iv-(c)
4) i-(b) ii-@@) iii-(c) iv-(d)

Which of the following is not part
of the four periods of evolution of
the world system as per Immanuel

Wallerstein ?

1) Mercantile consolidation

2) Industrial expansion

3) Contemporary capitalist world

4) Age of mass accumulation



131.

132.

133.

frefofeg & @ s9-a@1 AR
‘GoFar H OFA HEY b &Y H
IRARIT P & ¢

1) W dabad
2) Sihd SIeEh!
3) HfEY dio

4) TFASY TN

F-fd goar 27, I8 Fo e § 7

1) F Al
2) Sio THo X
3) @E dlo av
4) So TIo &

98 & I dedl @ °@gE dod |
ST S &l IR § GSTEH
%I 81T & 7

1) TG H g
2) WHEH F He™ed

3) THEH I IUTEE
4) HEE H dRSqq qel
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131.

132.

133.

[51/A]

Who among the following thinkers

explains Liberty as a triadic

relationship ?

1) Gerald Maccallum
2) Jacob Bronowski
3) Norman P. Barry

4) Alexander Berkman

'Dissolution is the Pivot which

genuine Parliamentarism revolves"

who said this statement ?
1) Karl Loewenstein

2) G. M. Karter

3) Dougles V. Verney

4) ].H.Herz

Who presides over the joint sitting
of both the Houses of Parliament
during absence of the Speaker of
Lok Sabha ?

1) Chairman of Rajya Sabha

2) Secretary General of Lok

Sabha
3) Deputy Speaker of Lok Sabha
member of

4) Senior most

Parliament

P.T.O.



[52/A]

134.

135.

glo GAN FHIAY WeM SHH we
3% AN B Tied ©

1) SR i |

2) MR § TRl HEame! H aed
ST @ difedr Rt |

3)@@11%13 11T A B S o

ERIEIE ﬁrcWT)
ailfaﬁwaargwﬂﬂﬁaﬁ
frde @

4 oggRm Sy SR orggfd
Sl @qedl % U W@l
T 4§

frg A H, oW &IE 3 e @
6 “oeare # Ffdse B9 § 'R
dfqgH & ogess 368 H Yad Sl
B FAN HIh GG e A ST
T & 7

1) PMEHE  GRA  SH B
oY, 1973

2) BREY T HeRSE WY, 1971

3) TP X e T9H TwEeH
Y, 1985

4) [TH M M 9RG 99, 1978

[ Level-3 /1307 ]

134.

135.

Dr. Subhash Kashinath Mahajan Vs
State of Maharashtra case is
related with :

1) Honour killing

2) Video recording of live
streaming of the court
proceedings in Public interest

3) Direction to prevent misuse of
Scheduled Castes and
Scheduled Tribes (Prevention
of Atrocities) Act

4) The reservation in Promotion
for the Scheduled Castes and
Scheduled Tribes Communities

In which case, the Supreme Court
HIIIl,le
specified in the Preamble contain the

observed that objectives
basic structure of our Constitution,
which can not be amended in the
exercise of the power under Article

368 of the Constitution" ?

1) Keshavananda Bharati V. State
of Kerala, 1973

2) Harivansh V. State of

Maharashtra, 1971

3) Thakur Amar Singh V. State of
Rajasthan, 1955

4) Menaka Gandhi V. Union of
India, 1978



136. o1 FEdeR X A @HEs gem @l

fawaar & R SReN A e @il

g, fr=ifoReg & @ P9-a1 o e

TEE ?

1) T & i UEie S
qrfieh GO gOEl & 9wl

HIEHIST T SAeed ST Febll 2l

2) T R el Toses | SiHa
BN & [y sifveg® 8ld & aifs
qYfes FRaE § WHEE FEY Rl
AT dEY H §Eem &
HATE B Bl

3) Hhe Gd AHSH For F A
B &l ATl & BT SAHES
& ufd dg ufiien el & 4
FHieAg I~ Kl sl

4) AdGT ST WWHR R TH

HIYAT B SH B BRT AR
FaE § e A & R wed

TG B
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[53/A]

136. John Mearsheimer has explained

various reasons for the failure of
the Collective Security, which of

the following is not part of it ?

1) Historical enemity between
states may complicate the
effective  working of a

collective security system.

2) States are often reluctant to
join a coalition because
collective action is likely to
transform a local conflict into

an international conflict.

3) Difficulty arise in securing a
rapid response to aggression
because of the unwillingness
to engage in pre-crisis

contingency planning.

4) Democracies will be very eager
to join collective action because
of their nature of government

and state sovereignty.

P.T.O.



[54/A]

137. JOUKE TONIG b SER  HEIET

frera d  ‘afrcied gedisuse @t

JEgRen e § @ dH-dl

Qe g 7T et © °

1) 9 iR Wy FAated & S

Iod T

2) SIS &l ® TH T TeiET
a1 ok S= oMl &

9 Hig I o B

3) USH™ HHel & X Farsl &

g T B FE AN

4) AqET HA D Th U & &9 H

I I & Tod1 ST
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131.

The Concept of the 'Complex
Interdependent' in the liberal
institutional theory of international

politics does not present which of

the following characteristics ?

1) Increasing linkages among

states and non-state actors.

2) A new agenda of international

issues with no distinction

between low and high politics.

3) Multiple channels of

interactions among actors

across national boundaries.

4) Increasing use of military force

as a tool of statecraft.



139.

1) T gEiE e AT 9y,
2010

2) dFR® T T 9@ (R ),
1993

3) TMIGH AEHME gl HiY
(TasTieTRE), 2002

4) T ERER FEY |, 2017

PA-A1 gARes fpmeH & e #
HRAT STeary GREd W g T
B HAA (JUTUHEE) & o
3 wae (dediee ) & 263 & &

TR 9RA @ W4y FRAE & U
T el (dEm) w0 few T@f R ?

1) 2030 % 500GW IR-sfiared Foil
& T TgaTl

2) 2080 T ST Holl STALIHATS
% 50 FfA9T BN Solt A

3) 2030 TH SFdTGET H  FHEN
digar ¥ 2005 % WX 9 45 Hfasd
0 HHI

4) 2070 T Y& LI S H T
o &I
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138.

139.

[55/A]

Which of the following is not an
agreement signed between the
USA and Russian Federation to
control arms race between them ?

1) New Strategic Arms Reduction
Treaty, 2010

2) Strategic Arms Reduction
Treaty (START II), 1993

3) Strategic Offensive Reduction
Treaty (SORT), 2002

4) Treaty on the prohibition of
Nuclear Weapons, 2017

Which is not part of the five nectar
elements (Panchamrit) of India's
climate action presented at the
26th session of the Conference of
the Parties (COP26) to the United
Nations Framework Convention on
Climate Change (UNFCCC), held
in Glasgow, United Kingdom ?

1) Reach 500GW  Non-fossil
energy capacity by 2030.

2) 50 per cent of its energy
requirements from renewable
energy by 2050.

3) Reduction of the carbon intensity
of the economy by 45 per cent
by 2030, over 2005 levels.

4) Achieving the target of net
zero emissions by 2070.

P.T.O.



[56/A]

140. ‘A SHbEl - U9 UATaeE SifE

141.

I Re-dEEd RAgE & a@h
B & 7

1) STgA Hredl
2) M R
3) [HA=R el

4) g mE

freifoifeg & & &9 9RG & T

ST, 19558 % o7ege] & 7

1) =i dio Sflo X
2) fo [ FAR s&eM
3) Zfo THo Ho Feuil

4) A WHAR R
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140. Who is

141.

the author of 'India's

Democracy — An Analysis of

Changing State—Society Relations' ?

1) Atul Kohli

2) Rajni Kothari

3) Ramachandra Guha

4) Bhikhu Parekh

Who among the following was the

Chairman of the Official Language

Commission of India, 1955 ?

1) ShriB. G.Kher

2) Dr. Birinchi Kumar Barua

3) Dr. S. K. Chatterji

4) Shri Maganbhai Desai

Download from www.MsEducationTv.com



[57/A]

142. G-I & FE-O & q¥ Fakw 142. Match List-I with List-II and
BT qe gl & e R ol select the correct answer by using
1 JANT Hd gU F@l ST G codes given below the lists :

-1 gE-11 List- I List- II
(e =) (a) (Rounds of GATT)  (Years)
A. 3 T () 1960-1962 A. KennedyRound (i) 1960-1962
B. R @ (i) 1973-1979 B. Dillon Round (i) 1973-1979
C. N = (iii) 1980-1994 C. TokyoRound (i) 1980-1994
D. 369 T (iv) 1964-1967 D. Uruguay Round  (iv) 1964-1967
Ze : Codes :
A B D A B C D
1) (i) (iv) (i) ) (i) Gv) @ ()
2) () (i) 0) 2) (v) () (i) (@)
3 ) @ (iii) 3 (v) (@) @) (i)
4 @ (@) av) (3 4 @ @) (@Gv) ()

[ Level-3/1307 ]

P.T.O.



[58/A]

143.

144.

145.

Frefife & & @9-@1 Mo g&E@ B
ot &7 ?

1) deled

2) SAfSHHES S

3) HErE®H S|

4) =1 yeE@

T A & fRve Rem (Sded)
i g e | o A $E o
Aifcdl & G § F@ T B TEEn
P :

1) SfTeR% 39 : e WS AR,
1992

2) STIERT 42 : WY @ Sifafem,
1961

3) TTBT 40 : 9 =M (Fug &R
fafrr) srfefras, 1986

4) OTIBT 43 : T P i,

2000

frfafag & | 9 ggae Sl 9o
% fou emasTs FE T ?

1) |HF T B Tl
2) i T qsr
3) W& ANl FHi FagEHE

4) TAEHT THEIA
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143.

144.

145.

Which one of the following is not a

category of Subsidiary motions ?
1) Amendments

2) Superseding Motions

3) Ancillary Motions

4) Censure Motions

Identify the correct pair as regards to
various acts and policies derived from
corresponding Articles in Directive
Principles of State Policy (DPSP) :

1) Article 39 : Panchayat Raj Act,
1992

2) Article 42 : Maternal Benefits
Act, 1961

3) Article 40 : The Child Labour
(Prohibition and Regulation)
Act, 1986

4) Article 43 : National Agriculture
Policy, 2000

Which one of the following is not

essential for the success of

Federalism ?

1) Unity of general goals

2) Peace and Prosperity

3) Presence of alink language

4) Administrative Uniformity



146.

141.

frfofag & @ feoer 0@ ' &
amagFs fawar 8 ?

1) Sfio Elo THo HiA
2) e Jo dATEh
3) ST T

4) M R

qd H MRS & dag § F=farad
4§ RH-a1 HIF TATE ?

1) dgme 5§ ‘Ud% A’
J=Ee § dl oY 9Ie I@t H
e e R

2) 9« el AT & T GgE &
o9 BN % Sgd 916 ot @,
g & @9 I8 ARG H
AT N AP BIg UL el (Al
ST

3) ARk FE A W A R
fodsll T™T @ AT I Bl
g, W o™ 9 & Toed SEH
ARG AARTRERAT ST &

4) TRl 9 TR & T NS
d U B MEIRT A @ B
iRy el & o9 9% 6 TE FE
% GYHR & el Qi @ e
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146.

141.

[59/A]

Who among the following argue
that 'public service' rather than

'sovereignty’ is the essential

characteristic of the state ?
1) G.D.H.Cole

2) Harold ]. Laski

3) Ernest Barker

4) Leon Duguit

Which
statements is incorrect as regards

among the following

to citizenship in India ?

1) The term "Every person' in the
Article 5 includes a prisoner
and a member of the armed
forces too.

2) Where a person was born
much after the commencement
of the
question of his/her domicile in

Constitution, the

India at time of
commencement of
Constitution will not arise.

3) If a person voluntarily acquires
citizenship of a foreign state,
he will

Citizenship under Article 9.

retain his Indian

4) A state Government has no

power to determine the
question of citizenship unless
the function is delegated by

the Central Government.

P.T.O.
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148. fr=ifoiiad o (I O II) &1 &MyEs

.
.
by

L

ol feem § wrdare FiYed @y

q Yol - amede foamem B

ge? fae ®

1) Pad HIF 1 T 2

2) Had B I Ll &

3) %Y I AR FHIF I aHT Tel &

4) TN FFT I G R AR T A

FI9 I 98 B
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148. Read

the following statements

(I & II) carefully.

II.

On the economic front, fascism

is certainly a Pro-Capitalist

Ideology.

An important feature of a fascist

economy is the establishment of

a corporative State.

The correct option is :

1)

2)

3)

4)

Only statement I is correct

Only statement Il is correct

Both statements I and II are

correct

Neither statement I nor

statement II is correct



149.

oI faRE i I T
F AE-AE OREST & dey A
Freifafad & | aF-a1 g™ gafad
g7

1) Tdo fBddq : “IoMi 39 9
& fas= ® 5 f59 @, @e oix

w2 ot 217

2) Uo fqgd : ‘IoFifg & A7 acdd

|k faare & ke & 217

3) Tdo fI&™ : ‘“Yomig el @r|
& fou geeNe T o dee
%ln

4) Vo TxFo X @ “Sfewan

IS &l AT 817
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[61/A]

149. Which of the following pairs is

correctly matched as regards to

political thinker and their known

definition of politics ?

1) S. Hillman : "Politics is the

science of who gets what,

when and why."

2) A. Bierce : "By politics I mean a

process of active controversy."

3) L. Lipson "Politics is the
conduct of public affairs for

private advantage."

4) J. W. Garner : "Finality is the

language of politics."

P.T.O.



[62/A]

150. HiagM & fhH AgBe & I,

“Feelt dfafy & g & o | &
qifafe Wi ™9 & qordr el
UMl ST WRAT Bl USF & TSl B
qa: o1 o9 B TH T8 B
T % 990 § 89 W % difaee
MRy Toiel T8t & 87 7

1) g=e 13
2) T 36
3) argee 21
4) IFTHT 33

150.

Under which Article, "a statutory
authority can not, in absence of the
provision of a statute, be treated to
be an agency of the state. Agency
of a state would ordinarily mean an
instrumentality of a state. A
statutory authority does not answer
the description of an agency under

the control of the state" ?
1) Article 13
2) Article 36
3) Article 21

4) Article 33

[ Level-3 /1307 ]
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6.

usHr B N, I G=h ¥ faiRa @t & & 9 qrEe ™A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y BN A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT E A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

T B FISH-E[W 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk X AT IR S Sk H I q&a of 9d o1 (Fhe wgs) & T (s 21/
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TA% U & fow Ru o oar feed § & ofd faee 3 T OMR ST W% W 399 % 99 & & [0 TR FM a6 @Re W W
Th d I JifFT B B I8 IY To Tef o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 oW T B AT 7 9 Ud 39 W HE I M T ) ot ot i St W # feEiRa e
% oifaftdd o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

Y- T I T B ANEE T H, Fie e 9 oRRefd § [eT-gRae 0 St T & B § @ R &
@3%_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W = ° U T wHiw gt T % ¥ =R’ I ¥ fT€ / The candidates should write the correct Number as

given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle Ad/H F HAY W R UEEM U & SiiRed R SR @ ureg-ar, a1 ST FEST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHAT AT TR ST TR & G B S A7 SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S TX UA% TRt oo Wae S A o] 9 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

F% ordfes @1 wdwe @ AW aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR fhU A ol wlen & e 818 ARk fed vl A
A R WK A W EWRR Te Y q a8 A O % I IO T AE Aern & AR Fe ST | H A qE S
OMR T T% 7 FHiRG @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey e & &6 919 &
& Tl WY R @ g A & & @nd oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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